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MATHEMATICS, Paper - I
{Chriya and English versions)

(Parts A and B)

Time : 2 hra. 45 min.] IMaximum Marks : 40
Instruectfions :

1. 156 minuiles of time is allotfed exclusively for reeding the question paper and
2 30 hours for writing the ansiers.

2. Parit-A answers should be written in separate answer book.
3.  There are three sections in Pari-A.

4.  Answer all guestions.

5.  Every answer should be written visibly and neatly.

6. There is an internal choice in section - III of Part-A.

Part.- A

Time : 2 hours Marks ; 30

SECTION - (Marks : dx1=4)

QM : (1) LD I ae cad |
(i} 95 0ge fRis 11

1. A={2 4,8, 16} 9 646 Q0Q QuIet cad |

2. logs+/625 @ @M FRaa @9 |
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3. 90F 9fgee S9I8 AuG 99T AROIR 58° LR 6268 6QId dee Fgad e |

4 7cm. QUGS B 10 cm. Bee G864 GR€6E 93094 £HETR HEOA @4 |

SECTION - I1 (Marks : 5x2=10)

gaey: (i QFIY 948 |ER 6wl |

Gi) 9% gge qeue 21

5. colen i eroiq 26 9d o | 57 od 050 6AFIRS AAR GETP 360 629 |
coleRa PEAIR 90Q SR0A TIF BINAIS 6288SI §UIE ANIRAST 6RS |

6. 5010 9p09 ¥ —x—-30 6 gRUGFe Q08 98 19" g1 6 ARGNINT CAR

7 ocd coes SOITR TINIR AgEIE 6F 9F | 1218 § QUAIE 7 cm 6 TS

24 em 6267 965 106 6910 B21G QIS LI9EIR cRAR! HiFG CAGER 0T
Q6|

8. QeS0T Seier geridel wweRia oF 1260 6 1440 & HCF fooa eal

9. ﬁﬁ.ﬂﬁgﬂﬂLﬁmwﬁmssgaﬂmmsmzsmwﬁgm
ea |
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SECTION - I (Marks : 4xd=16)

9V : 1) QI8 G996 eEe saw |
®) 99 g9e e 4

10. (@) <6i26a 2+5J3 2adeng
Zieil

() AP:22,15,8,1,..... @ 65154 00— 321 @ oed @im ea |

1. fa) <R ecga oaien elidein adie & ordy qla 9618 50; 62 07 adesa

BNS 2 AIG & erdiace 9f 3 AId aiRaie) 6062 6 A AINSR gaTe
210 c21Qeiia! | 987 Saase 918 fiId Read aa |

et )

(b) Eﬂmmﬁ_wmmaﬁﬁﬁmaﬁmﬂnﬁmzmam?m;é@ma

m* 881 QT ABRIQ €5 54 | ved 108 Gviee 0@ Adielg Bgeia saie
6QEE 672 Boaa aa |

12. (@ O8A= (295 Gag doy o6 olon).
B=lx:x <@ 6lae 0N Q121 60 & 90 Qo0
C = {x:x 90 BQg Sas aai gei 109 < }.
D = {x:x 9@ QQ G6P 994 Q121 489 99 QIPQ).

PI21 6268 ¢ 913 63Q, AIF 69I8A g cad 99" 3R0Q 96 :
(i) AUB (it) BnC
(iii) A-D  (iy) D-B.

s L/ =]

@ 65 coeds 843 sioe SFIIS' 718 Rs. 90/~ ; 85 6053Q 8 38 sisia sale
¥1eM B5/- c26@ 641IT sO%ER @ swif diSie feY Geae ea |
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18. (@ §IgNeDe 95 Fae 9gaa pio) =2" + x—20 6 AP 7904 98 |

s

b) B cB9e aMeed OIFE §IT FIPHIR 96 AARIR SR |
Zx+y=4 8 2-3y=12,
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15 (A)
MATHEMATICS, Paper - I

(English version)
(Parts A and B)

Time : 2 hrs. 45 min.] [Maximum Marks : 40

Insiructions :

1. 15 minutes of time iz allotted exclusively for reading the question paper and
2.30 howrs for writing the answers.

Part-A answers should be written in separate answer book.
There are three sections in Part-A.

Answer all guestions.

Every answer should be written visibly and neatly,

There is an internal choice in section - 111 of Part-A.

o ok L oW

Time : 2 hours Marks : 30

SECTION -1 (Marks : 41 =d4)

NOTE : (i) Answerall the following questions.
() Each question carries 1 mark.

1. Write A={2 4 8 18} in set-builder form.

2. Find the value of log,-/625.
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The larger of two supplementary angles exceeds the smaller by 58° then find
the angles.

Find the curved surface ares of cylinder, whose radius iz 7 cm. and height
ig 10 e¢m.

SECTION . I (Marks : 5x2=10)

NOTE: (i) Write answers to all guestions.

@) Each question varries 2 marks.

5. Rohan's mother is 26 years older than him. Thaprnduutnfth&irawaﬂ:ar
J years will be 360. Then write the required quadratic equation to find
Rohan's present age

8. Findthe seroes of the quadratic polyfotial +* - x - 30 and verify the relation
between the zeroes and its'eo-officionts:

7. A Joker'scapisin the firm of right circular cone, whose base radius js 7 cm and
height iz 24 cm. Find the areq of sheet required to make 10 such eaps.

8. Find the HCF of 1260 and 1440 by using Fuclid's division lernma,

9. Hthe sum of first 15 terms of an A.E is 675 and its first term is 10,
then find 25th term,

15 (A) [6]



NOTE:

10. (a)

(b

11. (a)

(b

12. (a)

(]

15 (A)

SECTION - III (Marks : 4x4=16)

G Answerall the following questions.

(i) Each question carries 4 marks.

Show that 2+ 543 isirrational
OR

Check whether _371isatermofthe AP:22,15, 8,1, ...

In aclass test, the sum of Moulika's marks in Mathematics and English is
30. If she got 2 marks more in Mathematies and 3 marks Jess in English,
the product of her marks would have been 210. Find her marks in the two

subjects.
OR
An il drum is in the shape of cylinder, whose diameter iz 2 m. and height

is 7 m. The painter charges Epermitupaint the drum. Find the total
chargﬁstﬂhepnjdmtthainterfnr 10 drums.

If Al=deix s faturalmymber lésé thanis 6}
B ={x:x iz aprime number which 15 a divisor of 60}.
C={x:xis qnuddnatm-alnum‘ueﬂmﬂ than 10}.
D = {x:x is aneven natural number which is a divisor of 48}.

Then write roster form for all above sets and find
(i) AUB (ii) BnC
(i) A-D {iv) D-B.
OR
§ pencils and 4 note books together cost Rs. 90/- whereas 8§ peneils and

3 note books together cost Rs, 85/-. Find the cost of one pencil and that of
one note book.

7l PT.0.



13. (@) Find the zeroes of the quadratic polynomial pix) = 4+ x-20
using graph.
OR
@) Solve the following pair of linear equations graphieally,
2% +y=4 and 2x-3y=12

15 (A) 81 MARCH, 2019



This Question Paper containg 8 Printed Pages.

MATHEMATICS, Paper - I

(Criva and English versionsa)

{(Parts A and B)

15°0°(B)

Time : 2 hrs. 45 min.] Maximurm Marks : 40

Instruction : Write the answers to the questions in this Part-B on the Question
paper itself and attach it to the answer book of Pari-A.

Part-B

Time : 30 minutes

Instruction :

Marks : 10

it} Each question has four ﬂptiuns. Write the CAPITAL LETTERS

in the brackets provided against ther.

(i) Marks are not awarded for over-written answers.

(iir) Al questions carry equal marks.
BECTION -IV

QEM: (i) UL YR QN6 CRE |
i) 9% gga Qs 7.

14. nlA) =8 niB)=3, nlA nBl =268 nlAUB)=...

(A) 5 B 7
@ 9 (D) 13
15°0'(B) ; [1]

Marks : 20 x =10



15. 6 -5x+ 1=00 36000, ...
(A 1 (B} 2

(C) 8 AR e

16. 9P961x" + 5 + 69 951 gPea and ...
(A) B (B) -5

3
(C) 6 (D) 8

17. B¢ g 6967 Badiena goe?

(A) 2 (B) /3
(C) V4 (D) B

18. amead x-%-z B EEIT AR ...

(A) 1 (B).. 2

© 8 (D)4 ?
19. 4,29 GO GP 66 HGEG COER a=.......

(A) 6 - (BY 16

() 7 (D) +7

20. QALGE AFY Y EVGTD 96 cm? CU6R VLI TGOS ...
(A) 32 cm? (B) 64cm®
(C) 128 em” (D) 256 em®

21. logy, 0.001=....

(A) 2 (B) 3
e -2 (o} -3
15'0"(B) [2]




232, 97 &I el :

4@ OF 9909 ax® + ba® + cx + d, (a £0) @ §HYHS

o, B,y GEER ...
i) a+p+y
i oaf+py+yra

(it} Py

(A) (i) —e, (1) —b, (i) —>a
(C) (i)=sb, (ii)—a, (1iL)—c

{a)

(&)

fel

(B)
(D)

93, AP V3, V12, J27 & ased a9 ...

(A} /32 (B)

(C) ~42 (D)
24, @@ PE60 S 2ER S ...

(A) A-B (B)

(C) u-B (D)
1 S - S— ... FETRNR GERNG Q61

(A) cRWe (B)

C) a9 ()

i
(i) —a. (i) —b, (i) —c
i)l —e, (E)—a, (HL)—b

<36
V48

B-A
AuB

Qe

AGE

26. AP log,2, log,4, log,8 ... 9 AluiGg el ...

(A) 1
c) 3

150'(B)
B

(B)
(D)

[3]

2
*

I 4
I
iy 1
EE
E I
PT.0.



27. GEF ‘n’ HEY SO SENe afd . EY §

(A) n (B) n*
() nin+1) (D) iﬁi‘!‘—ﬂ
28, 32 82 ga4 29I §RIe 9gUe ... s 113
(A -2 (B) ##+2
0 2242 (D) x-2
29. gIgER IE0II6 §HIFR 8l ... £
Y
X
{A) 0 ® 1
c) 2 (D) 3
30. E.r—?grﬁ'ﬁ"ﬁ'ﬁl:ﬂllE.,—.H.ﬂg....,..;w.....'.'..'mﬁ@'m| 14 SIS
A) ({-3) (B, ©=3 |
(C) (2,0) (D) (4,0
31. 3cm SUISIE G 8 cm @90 589 €96 2IGSR ...... em”. F o
(A) Bn (B) 1Z2n
(C) 18 (D) 24nx
32, P 6x+2-9=0 Bhet+y-T=06ORIP AT COEL = .... £
(A) 3 B) 2
(C) -3 D) -2
33, x* + bz + K =00 9129 6 §ia IR 868... k¢ ]
(A) K=8 (B) K<625
(C) K=>6 M) K=>25
15°0°(B) [4] MARCH, 2019




15 (B)

MATHEMATICS, Paper -1
(English version)

{Paris A and B)
Time : 2 hrs. 45 min.] : [Maximum Marks ;: 40

Instruction : Write the answers to the questions in this Part-B on the Question
paper itself and attach it to the answer book of Part-A.

Part - B

Time : 30 minutes Marks : 10

NOTE : (i} Each question has four options. Write the CAPITAL LETTERS
(A, B, C, D) showing the correct answer for the following questions
in the braekets provided againstthem;

(i) Marks are not murﬂﬂfnr over-writlen-answers.
i) All guestions carry equal marks.

SECTION -1V Marks : 20 x # =10

NOTE : (i) Answerall the questions.
(it} Each question carries & mark.

14. If n(A)=8, n(B)=3, nlA nB) =2 thenn(AUB) = ... [ ]
(A) B B) 7
(Cy 9 (D) 13
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15. The discriminant of €x _Bx+1=0i8
(A 1 B) 2
b
(C) & (D -E
16. Surm of the zeroes of the polynomisl P O O e
{A) B (B -6
5
(C) 6 (D} e
17. Whil:hﬂfthafnuuwingiamtirmtinnai?
(A) +2 (B) +3
) V4 @ B
18. One root of the equation I-%=2 |
(A) A (B) 2
{C) 3 (D)4
19. Ifd,n.ﬂaminﬂ,l?!,theuu=,.....,
(A} 6 (B} %6
)y 7 (o =7
20. .Tftntalaurﬁﬁcamﬂﬂfamheisﬂﬂcmg,thenitswlumia...
(A) 32em” (B) 64cm’
(C) 128 cm’ (D) 256 em®
ﬂl-- mlﬂmi; -----
(A} 2 (B &
(Cy =2 D)y -3
15 (B) 18]




232,

Match the following ;
If o B,y are zerpes of a cubic polynomial
ax’ + bx® + ex + d, (a# 0), then ...,

a
i) a+f+y ) 22
i) ap+By+ya h) i
b
() afy - g} ==

a

A) (e, (b, (i) —sa (B) ()—a, (i) —b, (i) —c

The next term in AP /3, J12, J97 s

(A) 32 (B) 96
(C) a2 (D) +/48

The shaded region in the given figure shows ...

:Ll__ e e

(A} A-B " (B) B-A
(C) p-R (D) AuB
25, 5x-3represents ...... palynomial.
{A} Linear (B) Quadratic
(C) Cubic (D) AandB
26. The common difference of AP log, 2, log, 4, log, 8 is.....
(A) 1 (B) 2
C) 3 (D) 4
27. The sum of first ‘n’ odd natural numbers is ...
(A) n (B) n?
(€ an+D) (D) "‘{";'1}
15 (B) (71

E
£ 3
|
|
e 4
R~ 3
BT.O.




98. The quadratic polynomial, whose zeroes are 2 and =v2 is.... [ 1

(A x2-2 (B) #2+2
(C) x%++42 M) x-2
29. The number of zeroes of the polynomial in the graph is ... R |
b
X
(A 0 (B) 1
c) 2 (D) 3
30. The line 2x - 3y = 8 intersects X-axis at ... [ 1
&) 2,-3 (By (0,-3)
(C) (2,0 (D) (4,0)

31. The volume of cone) whose Tadiusis 3'cn anid Height is 8 cm 15 ... amify ]

(A) 6=x B)" I2°%
(C) 18nm (D) 24=
32. H‘E.::+E,'—~9-Uundk:+y—T=ﬂhumm1uﬂumthmku,,.. L 1
(A} 3 (B 2
e =3 Dy -2

33, Ht}maquaﬁnn:2+5:+ﬂ=ﬂhaﬂrﬂlanddiaﬁnntrmts.then-,. F=1

Ay K=8 By K=<682b6
(Cy KE>6 Dy K=25
15 (B) (8] MARCH, 2019



